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. If the time period of a vibrating body is
1, 20x107s, its frequency of oscillation will be: | 5077 60Hz 70H= 80 Hz O O O o
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n 3. kAL bt P S pn S e 18 S E s st L] 2F 4F Lo EF | n Z2FaF O O O O
‘.‘{Tigtx el
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5. 2uF JuF QuF 1BuF
. Jusd e inlt z[ut..-f/_,_ﬂif.‘,{ui 6uF i 3uF A O O O O
S P i
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. Which of the following is used as data storage
10. device in a computer Monitor Printer Scanner Hard disk O O O O
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PHYSICS SSC-II

Time allowed: 2:45 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts from the following. All parts carry equal marks. (11 x 3 =33)
(i) If the length of simple pendulum is doubled. What will be the change in its time period?
(ii) What is meant by noise pollution? Write harmful effects of noise on human health.

(iii) The intensity of loud singing is 3.2x10~°wm™. Express the intensity level of this sound in decibel.

(7, =1x10"*Wm?)

(iv) Under what condition will a converging lens form a virtual image? lllustrate your answer with the help of
a ray diagram.

(v) A biologist with a near point distance of N =26cm, examines an insect wing through a magnifying glass
whose focal length is 4.3cm . Find angular magnification
a) At the near point b) At infinity

(vi) What is meant by the term ‘electrostatic potential'? Also write its formula and S.1 unit.

(vii) Two charges ¢, =51C and» g, =10uC repel each other with 0.2~ force. What is the separation between

these two charges?

(viii) Differentiate between alternating current and direct current.

(ix) The resistance of a bulb is 500Q. Find-the power of the bulb when a potential difference of 2501 is
applied across its ends.

(x) Which factors can affect the magnitude of induced e.m.f?

(xi) Can a transformer operate on direct current? Comment.

(xii) Briefly describe the construction and working of electron gun.

(xiii)  How NAND gate is made? Draw symbol for NAND gate @nd write its truth table.

(xiv)  Enlist the uses of internet. (Any three)

(xv) What is meant by background radiations? Write the names of main sources of background radiation.

SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)

Q.3 a. What is a telescope? Using a ray diagram explain its working, angular magnification and mention its
magnifying power.

b. A certain sound signal has a frequency 8k%z and wavelength 4.25¢m in air; calculate the speed of
sound in air.
Q.4 a What is a capacitor? Describe capacitance and its S.I unit. How can one determine equivalent

capacitance for different capacitors connected in series?
b. A transformer converts 240/ A.C mains to 121 . It has 4000 turns on primary coil. How many turns
should be on the secondary coil? If the transformer were 100% efficient, what current would flow

through the primary coil when the current in the secondary coil was 0.44 ?

Q.5 a. Describe the construction and working of Cathade ray oscilloscope with the help of a labelled diagram.
b. What are radio isotopes? Explain their uses for various applications.
— 2SA-1 2307 —
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In computer terminology processed data is
called: Information Procedure Qutput Input
S VAot 2o | 2 v Y ool © O O O
What happens to the atomic number of a
radioactive element which emits one alpha Stays the
particle and one beta particle? Decrease by 27| Decrease by 1 |Increases by 1 |same O O O O
LS EAL L B Ll e 2Oyt |6 sl (2D Clnf(DL ¥ boifl ¢ e
ey 0/ AUt L ek
If the frequency of a wave is doubled, then the | Decreaseto |Decreaseto |Become Remain the
time period of the wave will: half quarter double same O O O O
:J—_.&Ft‘fju’l;-.T_JQKJG;J;(:{;J(;‘:),‘J_{I/"T lat"bul.-ﬂ' “:_t'kmfi'fjk e Vle st g1 -,’-U:/C)Lf'
The intensity level of faintest audible sound is:
20db 30db 0db 10dh
ol 5= 1k 5 s s ST O O O O
Which of the following shows correct % p
relationship among v, fand 17 = FEs e ) f=— O O O O
?‘LJH’;&"T(;“;..:«;:K At v, [ g e e ! A A
The focal length of a convex mirror with radius
of curvature 10cm is: +5¢cm -5cm +10cm -10 cm O O O
W I SENE Tt ALl 10| 25 +s HKE -5 KE+10 KE-10 O
If a ray of light makes an angle of incidence 45°
on a plane mirror, the angle of reflection will be:
ST T S 450 ot LS ey ZTam G A 15 135 45° 90 O O O O
"?rﬂg‘;}?h—if
The Coulomb’s force between two identical
charges is 100N . If the distance between the
charges is doubled, then the force will be. SON 200N 20N 25N O O O O
en L2k N2 100 27 § o e £ 24e £ Lin | F 50 &/ £200 F£20 25
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Which of the following represents one ohm? £ ) 1 -
T{—(l/_&ﬁ!'-@'lﬁd{;dﬁ!}ﬁ,n w4 JC Z i O O O O
Which of the following quantities remains
0. constant in step up transformer? Heat Voltage Current Power
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A and B are the two inputs of a NOR gate. Its
output would be 1 when:
L -..:-qufih-‘-qﬁﬁlﬁlh"_‘j‘-'u"- "u%wimfh‘c"(NOR)th:'B»lA A=0 B=1 4=0, B=0 A=1, B=1 A=1, B=0 O O O O
wnt
The output of NAND gate is written as: —_— |
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PHYSICS SSC-II

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.
SECTION — B (Marks 33)
Q.2 Answer any ELEVEN parts from the following. All parts carry equal marks. (11x3=33)
(i) At one end of a ripple tank 8ocm across, a 5Hz vibrator produces waves whose wavelength is 40mm .
Find the time the waves need to cross the tank.
(ii) Waves are means of energy transfer without transfer of matter. Comment.
(iii) Why is sound produced by a simple pendulum not audible by human ear?
(iv) What is speed of sound in air at —20°C?
(V) What is meant by the term ‘total internal reflection’? Explain briefly with ray diagram.
(vi) Light travels from crown glass (», =1.52) into water (n, =1.33) . The angle of incidence in crown glass is
40° . What is angle of refraction in water?
(vii) Prove that potential difference can be described as energy transfer per unit charge between the two
points.
(viii)  What is meant by electrie field? Also describe electric field intensity briefly.
(ix) Briefly explain the factors on/which resistance of a metallic conductor depends.
(x) A light bulb is switched on for 40s-, If the electrical energy consumed by the bulb during this times is
2400 , find power of the bulb.
(xi) How can the polarity of current carrying/selenoid be found? Write briefly.
(xii) Which factors can affect the magnitude of induced e.m.f?
(xiii)  Describe NAND gate and draw its symbol along'with truth table.
(xiv)  Why optical fibre is used for communication purpose?
(xv) Coblat-60 is a radio active elements with half life of 5.25/years. What fraction of the original sample will
be left after 26 years?
SECTION - C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
Q.3 a A simple pendulum is displaced from mean position as shown in figure.
(i) Draw forces acting on it at point A and B.
(ii) Which forces is providing restoring force? Explain
(iii) What will be the velocity of the bob at point A? Explain
b. Describe the process of fission chain reaction. B 5 A
Q.4 Derive the formula for the equivalent capacitance for parallel combination of a number of capacitors.
An electric bulb is marked with 2201 and 100/ . Find the resistance of the filament. If bulb is used 5
hours daily, Find the energy in kilowatt hours consumed by the bulb in one month (30 days).
Q.5 a Explain that a current carrying coil in a magnetic field experiences a torque. Also draw a labelled
diagram.
b. What are analogue and digital quantities? How can the Analogue Electronics and Digital Electronics

be compared?
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